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1. Choose the correct answer from the
following : 1x8=8

(a) Who is the author of the book,
Fundamentals of Industrial Sociology?
(i) P. Gilbert
(i) P. Sarmah
(iii) Delbert C. Miller
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(b)

()

(@)

(e)
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Who made this statement “Organizations
are social units (on human grouping)
deliberately constructed and
reconstructed to specific goals”?

(i) Eliot and Merril

(i) Amitoi Etzioni

(i) Ogburn and Nimkoff

Who is known as the Father of
Industrial Sociology?

(i) Charles More

(ii) Auguste Comte

(i) Elton Mayo

Who defined “Organization as a system

of cooperative activities of two or more
persons”?

() C. 1. Barnard

(i) L. A. Allen

(iii) A. Etzioni

ILO stands for

(i) International Labour Organization
(i) International Law Organization

(iii) Indian Labour Organization
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(3)

(f/ In which year the Right to Education Act
was enacted in India?

() 2009
(i) 2010
(i) 2011
(g When did the government establish the -
Labour Welfare Fund?
(i} 1926
(i) 1946
(i) 1951
(h) In which year the Industrial Disputes
Act was enacted? '
(i) 1947
(i) 1937
(i) 1957
2. Write brief notes on any four from the
following (within 150 words each) : 4x4=16

(a) Distinction between pre-industrial
society and industrial society

(b) Labour welfare activities undertaken by
the Government of India

(c) Problems of industrial development in
" North-East India
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(4)

(d) Importance of formal organization in
industry

(e) _Irﬁpaet of industrialization in Indian
rural society

() Factors for growth of trade union

3. Answer any four questions from the following
(within 500 words each) : 14x4=56

(a) Define industrial sociology and discuss
the nature and growth of industrial
sociology. 4+10=14

() What do you mean by industrial
bureaucracy? Discuss the charac-
teristics of industrial bureaucracy.

4+10=14

.(c) What are the provisions of labour
welfare * activities prescribed in the
Factories Act, 19487 14

(d) Critically analyze the changing role of
family in the context of industrial

society. 14
(e) Critically evaluate the social security
measures prevalent in India. 14

() «“Industrialization is a process of social
change in India.” Examine. ° 14

(g) Critically evaluate the provisions of the
Bonded Labour System Abolition Act,
1976. 14
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